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1. KOMIIVIEKCHAA N EJIb MOAYJIA

B pesynbraTe n3ydeHust MOIyJisl CTYAEHTHI TOJKHBL:

® 3HATh:

1 ypoBenb(A):

1) nmekcudeckuii MaTepuai 1o Teme «Agriculture in Belarus. Agricul-
ture in Great Britainy;

2) mpaBuia< 00pa3oBaHUS U YIOTPEOJICHUS COBEPIICHHBIX BPEMEH
nericteuTensHOTro 3anora (The Perfect Tenses Active Voice).

MakcumManabHasl OlleHKAa 3HAHMII HA MePBOM YpoBHe (pPenpoayk-
THBHOM) — 6 0aJ1710B.

2 ypoBeHb (B): 3HaTh U XapaKkTepHu30BaTh:

1) nexcuyueckuit matepuan mo teme «Agriculture in Belarus. Agricul-
ture in Great Britainy;

2) npaBuiia 0Opa3oBaHMsI W YHOTPEOJCHUsS COBEPIICHHBIX BPEMEH
nerictBuTenpHOro 3anora (The Perfect Tenses Active Voice).

MaxkcumManbHasi OLeHKa 3HAHHMI Ha BTOPOM YpOBHe (IPOAYK-
THBHOM) — 8 6aJL110B.

3 ypoBens (C): 3HaTh U XapaKTEePU30BATh:

1) nekcuueckuit Matepuan o teme «Agriculture in Belarus. Agricul-
ture in Great Britainy;

2) mpaBuna oOpa3oBaHWsI W YNOTPEONIEHUS COBEPIISHHBIX BpPEMEH
nericteuTenbHOro 3anora (The Perfect Tenses Active Voice).

MaxkcumajbHasi OLlEHKA 3HAHUII HA TpeThbeM YPOBHe (TBopue-
ckom) — 10 6asu10B.

® yMeTh:

1 ypoBensb (A):

1) aHanM3MPOBATh MHOS3BIYHBIA TEKCT (E€ro CTPYKTypHBIE, JEKCHUe-
CKHE M CTHJIUCTHIECKUE OCOOCHHOCTH) C MTO3UIINN TpeOOBaHUN K 3HAHU-
SIM TIEPBOTO YPOBHS;

2) 9uTaTh, MEPEBOANTH, MOHUMATH HAa CIYX TEKCTHI MO TPOQIITIO
o0ydeHws (M3ydaroliee YTCHHE);

3) Bectu oOmieHWE MPO(PECCHOHATHFHOTO W CONMHMOKYJILTYPHOTO Xa-
pakTepa Ha aHTJIMHCKOM S3bIKE MO NMpeIJIOKEeHHOW MOJeu, coveras
JUAJIOTHYCCKUEC N MOHOJIOTHYCCKUEC q)OpMBI pe€uu, NOHUMATh MHOA3BIY-
HYIO peYb B 00beMe MPOrpaMMHOI TeMAaTHKHU, HCIIOJIb30BaTh aHTIINH-
CKHI TEKCT B KauecTBE MHCTPyMEHTa Npo(ecCHOHATbHOHN IesTeIbHO-
CTH: TIEPEBOJl HAa PYCCKHH S3BIK, pedepupoBaHE W AaHHOTHPOBAHHE
npodeccHOHATEHO OPHEHTHPOBAHHBIX TEKCTOB.

MaxkcumManbHasi OleHKA 3HAHWI NepBOro ypoBHsl (pPenpoayk-
THBHOTI0) — 6 6aJLI10B.
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2 yposenb (B):

1) aHanMM3WpPOBATh MHOS3BIYHBIA TEKCT (€r0 CTPYKTYpHBIE, JIEKCHYE-
CKHE U CTHIIMCTHYECKUE 0COOCHHOCTH) C TO3UIIUH TpeOOBaHUI K 3HAHU-
sim 1 ypoBHS;

2) uWTaTh, MEPEBOANTH, TIOHUMATh HA CIYX TEKCTHI MO MPOQUIIO
00yueHus (M3ydaroliee YTCHHE, 03HAKOMUTEIFHOE YTCHHE),

3) Bectu obOmieHWE MPO(PECCHOHATHFHOTO W COIMOKYJIBTYPHOTO Xa-
pakTepa Ha aHTIMICKOM SI3BIKE B PA3iIMYHBIX CTAHJAAPTHBIX CUTYaIH-
X, TIOJTB3YSCh MPABUIIAMH PEYEBOTO ITHKETA, COUETasi TUAIOTUIECKHE
W MOHOJIOTHYECKUE (QOpMBI peyn;

4) moHMMAaTh AayTEHTUYHYI0 WHOS3BIYHYIO pedb B 00beMe Mpo-
rPAMMHOI TEMATUKH;

5) WCTONMB30BaTh AHTIMUACKUA TEKCT B Ka9eCTBE MHCTPyMEHTa mpodec-
CHOHAJIBHOW JESTENIbHOCTH: TIEPeBO/I Ha PYCCKHH S3BIK, pedeprpoBaHKe
Y aHHOTHPOBaHUE MPOPECCHOHATEHO OPHEHTHPOBAHHBIX M HAYYHBIX TEKCTOB.

MakcumManbHasi OleHKA 3HAHUH BTOPOro YpoBHS (NMPOXYKTHB-
HOro) — 8 6aJLI0B.

3 yposens (C):

1) aHanM3UpPOBAaTh MHOS3BIUHBIA TEKCT (€r0 CTPYKTYPHBIC, JIGKCHYEC-
CKHE M CTHJIUCTUYECKUE OCOOCHHOCTH) € IO3ULUI TpeOOBaHMIA K 3HAHU-
SIM TIEPBOT'O YPOBHS;

2) 4UTaTh, IEPEBOANTH, TOHUMATH HA CIIYX TEKCTHI IO Tpodriro 00y-
YeHus (M3ydaroliee YTeHrne, MPOCMOTPOBOE U O3HAKOMHUTEIILHOE YTCHHUE);

3) Bectu oOmeHUe MPO(HECCHOHANBHOTO U COIUOKYJIBTYPHOTO Xa-
pakTepa Ha aHTJIMICKOM SI3bIKE B PA3JIMYHBIX HECTAHAAPTHBIX CHTYya-
IHUAX, TOJB3YSACh NMPaBUJIAMH PEYEBOTO ITHKETA, COUeTas JHajorhde-
CKHE ¥ MOHOJIOTHUYECKHE (POPMBI PEeUH;

4) moHMUMATh ayTEHTHYHYIO HHOS3BIUHYIO PEYh CBepX MPOrpaMm-
HOM TEeMATHKHU;

5) UCIIONB30BaTh AHTIIMHACKUNA TEKCT B Ka4eCTBE MHCTPYMEHTa Mpodec-
CHOHAJILHOW JESTEIFHOCTH: TIepeBO]] Ha PYCCKUHA S3BIK, pedeprpoBaHre U
AHHOTHPOBaHKE MPO(HECCHOHATFHO OPUEHTHPOBAHHBIX M HAYYHBIX TEKCTOB.

MakcuMaJIbHASl OLlEHKA 3HAHUI TpeThero ypoBHs (TBOpYeCKO-
ro) — 10 6anos.

e (opmMupOBATH:

1) moHATHE 3HAUMMOCTH IIeJiel U 3a/1a4 CEeTbCKOI0 X0341CTBa;

2) oco3HAHUE POJU arpoOMH)KCHEpa B Pa3BUTHH OTECUECTBEHHOTO
CEILCKOI'0 XO35MCTBA;

3) GepeskHOE OTHOIICHUE K 3eMIIe U €€ OoraTcTBaM, K OKpYKarolleH
cpene;

4) ocozHaHUE IOTPEOHOCTH B IOCTOSIHHOM CaMOCOBEPILICHCTBOBAHUH.
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2. HAYYHO-TEOPETUYECKOE COIEP KAHUE MOJAYJIA

2.1. CioBapb-MMHHMYM 10 TeMe
«Ceabckoe x03siicTBO Pecny6s1uxu benapycs
u BeauxoOpuranum»

ACTIVE VOCABULARY (Text A)

Nouns

1. application;
fertilizer application

pUMEHEHNE, BHECCHUE;
BHECEHHE YA00pEeHMI

wheat)

2. beef TOBSOMHA

3. efficiency MTPOU3BOJAUTEIHLHOCTh

4. explosion B3pHIB

5. fertile soil IJI0JI0POJHASI TI0YBA

6. fiber BOJIOKHO

7. flax JIeH

8. grain crops (barley, rye, oats, 3epPHOBBIE KYJIBTYPHI (SIYMEHB,

pPOXb, OBEC, MIIECHHIIA)

9. growing season

BETeTAIMOHHBIN Eepros

10. investment

KanmnuTaJIOBJIOKCHUC

11. livestock products

IIPOAYKTHEI ) KUBOTHOBOJICTBA

12. lack HEJIOCTATOK, OTCYTCTBHE

13. land 3eMJIsI

14. meadow IyT

15. output NPOAYKIHS; BBITYCK; BEIXOX
16. pasture nacToue

17. pork CBHHHHA

18. poultry meat MSICO TITHITBI

19. processing nepepaboTka

20. productivity

BBICOKas NPOAYKTUBHOCTD

21. recession

cIiaj, najeHue, HOHMKEHNE

22. revival BO3POXKJICHUE
23. species BH/IBI
24, transition nepexon

25. workforce

pabogas cuia

26. yields

BBICOKHE YpOKaH




10. sale poJaka
11. strawberry KITyOHUKA, 3eMIITHUKA
12. technology; TEXHOJIOTHS;
technology of farm crop production | TeXHOJIOTHS TPOU3BOACTBA C/X
KYJIBTYP
13. technologist TEXHOJIOT
Verbs
1. be highly mechanized OBITh BRICOKOMEXaHM3UPOBAHHBIM
2. compete KOHKYPHUPOBAaTh
3. disappear ncye3arhb
4. graze nacTu(-Ch), MIMIATh TPABY
5. make up COCTaBJISATh

Adjectives and adverbs

1. average, on the (an) average,
below the average,

above the average, average height,
average sized farm

CpPEIHHM, B CPETHEM,

HIDKE CpeHero,

BBILIIE CPEHETO, CPETHUNA POCT,
depma cpeqHero pazMepa

2. dairy;
dairy farming

MOJIOYHEBIH;
MOJIOYHOE MTPOU3BOJICTBO

3. efficient

3 PEeKTUBHBIH, MOATOTOBIICHHBII

4. gradually

IIOCTCIICHHO

5. horticultural; CallOBBIN;
horticultural crops CaJIOBBI€ KYJIBTYPBI
6. poor OeqHbIN

7. primarily
Syn. at first, at the beginning, mainly

CHaydaja, NCpBOHA4YaJIbHO,
TJIaBHBIM 06pa30M

8. rough

rpyObIii, pe3kuii (o BeTpe);
CYpOBBI# (0 KIMMaTe, IOTo/Ie);
TSDKEJIbIN, TPYAHBIH

9. self-sufficient

HE3aBUCHMBIH, JKOHOMHUYECKH
CaMOCTOSITEIIbHBIN

Verbs
1. account for COCTAaBIISTh, IPU3HABATH, CYUTATh
2. be drained OCYIIATHCS
3. be favorable for OBITH OJATONMPUSTHBIM JIJIS Ye-
ro-1mbo
4. belong to NpUHAJICKATH
5. be over moistened OBITh NepeyBIKHEHHBIM
6. contaminate 3arpsi3HSTH
7. decrease CHIDKATh(-cH)
8. employ MPEJOCTABIISTh PA0OTY, HAHUMATh
9. invest BKJIQJIbIBATh, HHBECTUPOBATh
10. restore BOCCTaHaBJIMBAaTh
11. specialize CIECIUATU3UPOBATHCS
Adjectives and adverbs
1. arable TIaXOTHBII
2. average CpeIHUIl
3. countrywide 10 BCeH CTpaHe
4. due to Oyraromapst
5. major TJIaBHBIH
6. retail; PO3HHYHBIN;
retail price pO3HUYHAs IIeHA
7. total o0
8. unstable HEYCTOWYMBBIN
ACTIVE VOCABULARY (Text B)
Nouns
1. acreage TUIOIA/Ih 3€MJTH B aKpax
2. combine harvester yOOPOUHBIH KOMOAHH
3. gooseberry KPBDKOBHHK
4. horticulture CaJJ0BOJICTBO, OFOPOTHUYECTBO
Syn. gardening
5. horticulturist CaJ0BOJI
6. machinery TEXHUKa
7. moorland 3€MJIH, ITOPOCIIINE BEPECKOM
8. raspberry MaJIMHA
9. roughage rpyObIie KOpMa, MHIIA




2.2. OCHOBHBIE TEKCTBI
TEXT A
AGRICULTURE IN THE REPUBLIC OF BELARUS

Agriculture is a priority industry in the Republic of Belarus. It is essen-
tial for ensuring the country’s food security and for providing raw materi-
als to other industries. Agriculture is also one of the most important activi-
ties in the republic for it employs more than 20 % of the workforce.

Belarus belongs to the area of so-called unstable farming. A short
growing season, the lack of fertile soils and other factors make farming
difficult. The main plowed lands have low natural fertility. Much of the
land can be productive only with fertilizer application. The 1986 explo-
sion at the Chernobyl nuclear power station contaminated much of the
soil in southern Belarus. It reduced the country’s total area of arable land
by more than 10 %.

40 % of the total territory is over moistened. Many of the lowlands
have been drained. They are used for producing fodder crops.

The Belarusian agricultural sector is now at the turning-point stage. The
country managed to overcome the recession of production, to bring the
number of loss-making agricultural companies to the minimum, to restore
the balance at the foodstuffs market by raising the share of home-made
products; to extend exports and domestic sales of foodstuffs.

Due to the state support, especially due to investments in moderniza-
tion and retooling, the agricultural output has increased greatly.

The Belarusian agrarian business is represented by large agricultural
enterprises. Most of the farms have mixed crop and livestock farming.
The main species of livestock are cattle, pigs, sheep, goats and poultry.
A powerful cattle breeding has been created in Belarus to manufacture
milk and meat products. Broiler chickens are other major livestock.
They are raised at special mass-production plants.

Many species of plants grow well especially grain crops (rye, wheat,
barley and oats) and sugar beets. The republic is one of the main pro-
ducers of flax in the world and the second producer of potatoes
in Europe. The fact that potatoes are Belarusian ‘second bread’ is known
far beyond the republic. No wonder: Belarus is the second producer
of potatoes in Europe. Additional crops, grown on Belarusian farms, are
cabbage, tomatoes, carrots, cucumbers, onions. Fruit crops include ap-
ples, pears, plums, cherries:
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The increase in cattle breeding production and the demand for new
products required a modernization of dairy and meat-processing compa-
nies. Belarus is considered to have low prices for foodstuffs among other
countries in transition. Retail prices for foodstuffs in Belarus are much
lower than those in Russia and other CIS countries.

Belarusian agriculture does not only produce farm products to meet
domestic needs. The republic is a traditional exporter of agricultural
products. Among them are pork, beef, chicken, animal oil, cheese, eggs,
flax, vegetables. Today our products are supplied to twenty-three coun-
tries. Russia is our main customer.

The Belarusian agro-industrial complex has recently turned into a big
exporter.

Price — reasonable, quality — excellent. This is the goal of Belaru-
sian agrarians.

TEXT B
AGRICULTURE IN GREAT BRITAIN

Agriculture, one of Britain’s most important industries, supplies
nearly two-thirds of the country’s food. British agriculture is efficient,
for it is based on modern technology and research.

Nearly 80 % of the land is used for agriculture. The total agricultural
acreage of Great Britain is about 45 000 000 acres. Soils vary from the
poor ones of highland Britain to the rich fertile soils in the eastern and
south-eastern parts of England.

Britain is self-sufficient in milk, eggs, to a very great extent in meat,
potatoes, wheat. However, it needs to import butter, cheese, sugar and
some other agricultural products.

There are about 55 000 farms in Britain. They are not large. An ave-
rage sized farm is about 30-40 acres. There are three main types
of farming in Great Britain: pastoral, arable, and mixed. 60 % of farms
are developed mainly for dairying or beef cattle and sheep raising. Sheep
and cattle are reared in the hill and moorland areas of Scotland, Wales,
Northern Ireland and south-western England. Milk production is of the
first importance in the structure of British agriculture.

Pig breeding is carried out in most areas but is particularly important
in southern England, north-eastern Scotland and Northern Ireland.

Arable farms are mainly in the eastern part of the country. The main
cereal crops in Great Britain are wheat, barley and oats. Rye is grown
in small quantities for use as cattle fodder.
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Great Britain produces different kinds of fruit: apples, pears, cherries,
gooseberries, strawberries, raspberries and others. Potatoes are grown
for sale, for fodder and for seed.

Modern machines: tractors, combines and other equipment are used
on British farms. But today the main tendency in British agriculture is
that small traditional farms are gradually disappearing because they can-
not compete with big industrial farms.

Private woods make up 56 % of the total forest area in Great Britain.

Woodlands cover an estimated 2,2 million hectares.

Britain’s second major source of food is the surrounding sea. The
fishing industry provides about 70 % of British fish supplies.
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2.3. 'paMmmaTHYecKMii MUHEMYM
Grammar revision

Oobpazosanue u ynompeonenue The Perfect Tenses (Active Voice)
Perfect Tenses Active
Ileppexmmuvie (cosepuiennle) 6pemena OeiicmeuUmenbHo20 3a102a
Hacmosauiee cosepuennoe epema (Present Perfect Tense)

YTBepauTenbHan OTtpunareasHasi Bonpocurtenbnas
opMa dopma dopma

%('ou have(’ve) %(ou have not Iou
We left. We (ha;vte_:tn’t) Have zve left.
They They et they
He He has not he
She has left. She y Has | she left.
It It (hasn’t) left. "

Present Perfect oOpasyercst mpu HOMOIIM BCIIOMOTATENBHOTO IJIaroja
to have B Qopme Hactosimero Bpemenu (have, has) u ¢dopmbl npuyacTus
nporeamero Bpemend (Past Participle), T. e. 3-it popMBI CMBICIIOBOTO T1aroda.

®opma Past Participle mpaBHIBHBIX TJIarojoB coBHamaeT ¢ (OpMO
Simple Past, T. e. K ”HQUHUTHBY CMBICIIOBOTO miarojyia (0e3 4acTHIlbl to)
npubanisiercss okonvyanue -(e)d: live — lived, stay — stayed, study —
studied.

®opma Past Participle HempaBUIBHBIX TJIaroyioB o0pasyercs myTeM
U3MEHEHMSI KOPHEBOU IIACHOM.

Present Perfect ymoTpeOnsiercst ansi BbIpakeHHsI ACHCTBHSA, COBEp-
LIMBLIETOCS K HACTOALIEMY MOMEHTY, Pe3yJIbTaT KOTOPOro UMEeTCs Ha-
JUIO B HacTosimee Bpems. B ciyuae ynotpebnenusi Present Perfect
B LIEHTPe BHUMaHHs HaXOJUTCS CaMoO coBeplIuBILeecs aelicTsue. [lpu
3TOM TOBOPALIETO MHTEPECYeT He BpeMs WU JIpyrue OOCTOATENbCTBA
COBEpILIEHUS] JCHCTBUS, a PE3yNbTAT HTOrO JEUCTBUSA, UMEIOLIUICS B
JJAHHBIM MOMEHT.

We have bought a new TV set.  MpbI Kynuiiu HOBBIH TEJIEBH30D.
(Y Hac HOBBIN TEIEBU30D.)
I have opened the window. A otkpsbut okHO. (OKHO OTKPHITO.)
She has gone home. Oma ynuia gomoit. (OHa celiuac joma.)
12



Ha pycckuii s3pik Tmaron B Present Perfect mepeBoamtcss 0OBI4HO
[JIarojioM B MPOLIEAIIEM BPEMEHH COBEPIICHHOIO BHIA: HANMcal, 3a-
KOHYMJI, KYTIHJI | T. II.

Present Perfect yacto ymorpeOnsercst ¢ TaKuMH OOCTOSITEIbCTBAMH
BpEMEHH Kak ever (kozda-1ubo), never (Hukozoa), just (moavko ymo),
already (yorce), yet (ewye — B OTpUIIATENBHBIX MPEIJIOKCHUSX, YHCe —
B BOIIPOCHUTENBHBIX MPEUIOKEHHSAX ).

I have just seen your brother. 41 TonBKO YTO BUJIEN TBOETO OpaTa.
I have already bought this dic- S y’e KyImuit 3TOT CIIOBapb.
tionary.

Have you translated the text yet?  TsI yxe nepeBern TeKcT?

I haven’t done my homework S erie He BBITIOMHWI JOMAIITHEE
yet. 3aJaHue.

Present Perfect ynorpeOisiercst Takxke 1u1si BRIpaKeHUS ICHCTBHSA, KO-
TOpPOE HAyaJOCh B MPOLUIOM M TPOAOJDKACTCS B HACTOSIIMH MOMEHT.
B TakoMm ciyuae 0ObIYHO OBIBaeT yKa3aH MEPHOJ JCHCTBUS C MTOMOLIBIO
npeiora for (6 meuenue) MM Ha4ano ASHCTBUS C TIOMOIIBIO IpeIOra
since (c mex nop). Harmpumep:

I have lived here for 10 years. A xuBy 31ech 10 ner.
I know him for three years. 4 3Haro ero Tpu roja.

Present Perfect Moxet ynotpednsTbcs Takxke ¢ 00CTOSTENbCTBEH-
HBIMHM CJIOBaMH, KOTOpble 00O3HAYAIOT €llle HE HCTEKIIMH MEepHOJ
BpeMeHHU, Hanpumep: today, this week, this month, this year u 1. 1.
OTH 00CTOSITENILCTBEHHBIE CIIOBA CTOST, KaK MPaBUJIO, B KOHIE Mpe-
JIOKEHUSL.

We’ve done a lot of work today. MEI MHOTO CIIEIAJI CETOIHA.
They haven’t written to me this Ha »Toii Hegele OHN MHE HE ITH-
week. Calu.

Onnako HEOOXOAMMO MMETh B BHIY, YTO HAJIMYUE B MPEIIIOKECHUH
0OCTOSITENILCTBEHHBIX CJIOB, 0003HAYAIOIIMX HE HCTEKIINE IEPHUOJIBI
BpEMEHH, HE SBJSIeTCS O€3yCIIOBHBIM IIOKa3aTejeM HE0O0XOIUMOCTH
ynotpebnenus Present Perfect. Simple Past moxer Taxke ynorpe0nars-
cs npu Hanuuuu cioB today, this week u 1. 1., Korma uMmeercst B BULY
ompeiesICHHbI MOMEHT WIIM OTIPEETICHHAs YacTh HelleJIn, MEecsIIa.
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I got up early today. S BcTan ceroaHs paHo.
He phoned me this week. OH 103BOHMJI MHE Ha dTOW Hele-
Je.

C napeunsmu lately, recently (6 nocieonee epems, 3a nocieouee
épems) Beeraa ynorpedsercs Present Perfect.

I haven’t heard from him lately. Sl oT Hero HW4Yero He cribIma
B [IOCJIEJTHEE BPEMS.

I'narogsl, He umeromue ¢popm Continuous,
ciaenyer ynorpeduasts B Present Perfect

CpaBHuTe clieqylonue napsbl npeaio:KeHui

51 3Har0 ero. I know him.

51 3Ha10 ero yice mpu 2ooa. I have known him for three
years.

51 xouy noexartb B JIOHAOH. I want to go to London.

51 6cezoa xoten moexath B JIon- (I have always wanted to go to

JIOH (u celiuac X04y). London.

Omna OoJbHA. She is ill.

Omna 0oJibHA yorce 06e nedenu. She has been ill for two weeks.

OH npeanoynTaeT KJiaccuye- He prefers classical music.

CKYI0 MY3BIKY.
OH 6cezoa npennouutan kjaac- |He has always preferred classical

cHYeCcKYI MY3bIKY (u ceituac music.
NPeANnoYnTaET).
OHa J1I00MT aBTOMOOHUJIN. She likes cars.

Omna ¢cezoa nwodoniaa apromoonau She has always liked cars.
(u ceituac 1ooOUT).

Ilpoweowee cosepuiennoe epems
(Past Perfect Tense)

The Past Perfect Tense oOpaszyercs mpu IOMOIITH BCIIOMOTATEILHOTO

rimaroia to have B hopme Simple Past u Past Participle (mpuwactus mpo-
IIeIIIET0 BPEMEHH) CMBICIIOBOTO TJIaroJa.
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YTBepaurteabHasi Bonpocurenbnas OTpuuaresibHas
opma dhopma dopma

I I I

He he He

She had done she done She hadn’t done
the work . the work

It b Had | it It the work

v y Satur- by Satur- v by Saturd

ou | o you | oo ou y Saturday.
We Y- we v We
They they They

Past Perfect ynmorpeOmnsieTcs 1ist BeIpayKeHHs MPOIIEAIIETO ASHCTBUS,
KOTOpOE YK€ COBEPIIMIOCH J0 ONPEAETICHHOTO MOMEHTa B IMPOILIOM.
OTOT MOMEHT MOXKET OBITh YKa3aH:

a) o0cToATENhCTBAMU BpeMeHU ¢ mpemiiorom by (x): by five o’clock
(x namu uacam), by Saturday (x cyo6ome), by the end of the year (x
KOHYY 200a), by that time (x momy epemenu).

We had translated the article K xoHIy ypoka MblI iepeBenu
by the end of the lesson. CTaThio.

She had typed the documents OHa Hareyaraia JOKYMEHTHI
by 2 o’clock. K IByM HacaMm.

0) apyrum (6ojee MO3THUM IO BPEMEHH) MPOIISAIINM JICHCTBHEM,
KOTOpOE BhIpaskaeTcs riaroioM B Simple Past.

My brother bought a new watch Moii 6paT KymI Buepa HOBBIE

yesterday as he had lost his old Yachl, TaK KaK MOTEPsIT CBOM CTa-
one. phle.

I knew that Jane had already S 3Ham, uyto JXxeitH yxe 3akazana
booked the ticket. oner.

Past Perfect moxker ymoTpeOisTBCS B TOM ciydae, KOrzna Bpems,
JI0 KOTOPOTO COBEPIIAIOCH JIEiiCTBUE, HE YKa3aHO B CAMOM IpeIIoxKe-
HUH, a OTIPENENIAETCS KOHTEKCTOM.

I received a letter from my A nosy4na Buepa MuCbMo
brother yesterday. I had not heard ot ©para. I nonroe Bpems
from him for a long time. HE HOoITyYal OT HETO U3BECTHH.

HpI/IMe‘laHHe. B CJIOXKHONIOAYUHCHHBIX MNPEIJIOKECHUAX BPEMEHU
C COro3amMu when, as soon as, after B OPpUAATOYHOM NPCATTIOKCHHUU MO-
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xeT ynorpebnsatbesa kak Past Perfect, Tak u Simple Past. Past Perfect
ynoTpeOisieTcst Uil TOro, YTOObl MOAYEPKHYTh, YTO IeiCTBUE MpHIa-
TOYHOTO IMPEIJIOKEHUSI YK€ COBEPLIMIOCH O HACTYIUICHHUS NEHCTBUS,
COBEPLICHHOTO B TJIABHOM MPEIJIOKECHUH.

After we had written the test we ITocae Toro Kak MBI HaITUCaIN

went to the art museum. TECT, MbI IOLIIA B XyJ10’KECTBEH-
HBII My3eil.

We sat down to dinner only when Mgl cenu 3a ctou Toraa, Koraa

all the guests had arrived. MIPHIIUIHA BCE TOCTH.
As soon as I had booked a ticket  Kaxk Tonbko s 3aka3an OHIer,
I phoned Pavel. s mo3BOoHMN [laBmy.

Korza onHO neiicTBre OBICTPO CIIEAYyET 3a APYTUM M HET HEOOXOIH-
MOCTH I[IOJYEPKHUBATh, YTO OJHO ACHCTBHE MPEIIISCTBOBAIO IPYTrOMY,
TO Kak B TJaBHOM, TaK U B MIPUAATOYHOM MPEIJIOKEHUN yIOTpeOsieTcs
Simple Past.

As soon as we got to the theatre, Kak Tonbko MBI BOIIUTH B 341,

the performance began. MIpPEJICTaBICHUE HAYAIIOCh.
When she turned off the light, Omna BBIIIJIA U3 KOMHATEL,
she left the room. KOT'1a BBIKJIKOUYMUIIA CBET.

byoyuiee cosepuiennoe epems
(Future Perfect Tense)

Future Perfect oOpa3yercst mpy momMoIy BCIIOMOraTeIbHOTO TJaroja
to have Bo Future Simple u Participle II cmbicioBoro rinarona.

Bynymee cosepmennoe Bpemsi (Future Perfect) ynorpebmsiercs mns
BbIpaykeHHs Oymymiero AeHCTBUS, KOTOPOE 3aKOHYUTCS A0 ONpelesieH-
HOI'O MOMEHTa B OyaymeM. MoMeHT B OyaylueMm, 10 KOTOPOrO 3aKOH-
YUTCS ICHCTBUE, MOXKET OBITH BBIPAXKEH:

1) obcrositenscTBOM Bpemenu ¢ mpemiorom by: by five o’clock
(x namu wacam), by the end of the year (x xonyy 2ooa) u np.

By the end of the week we’ll K xoHIly Heaenu Mbl 3aKOHYUM
have finished this work. 3Ty padory.

2) nppyruMm OyIoymiuMm JAeWcTBHEM, BEIpaXeHHbIM Present Simple
B MIPHJATOYHOM NPEUIOKCHUN BPEMEHH M YCJIOBHS C TAKMMH COIO3aMH
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kak before (0o mozo xax), when (xozoa), as soon as (kax mo.vko), af-
ter (nocie mozo kax), if (ecau) u np.

When we meet next time, Korma Mmel BCTPETUMCS B CIIEQYIO-
I’lIl have read this book. Wi pa3, I MPOYHUTAI0 ATY KHUTY.

Ecmu Future Perfect ynotpebnsiercs ¢ Hapeunem already (yowce) u apy-
TMMH OOCTOSITEIb.CTBEHHBIMH CJIOBaMH, TO 3TH CJIOBa CTaBATCS IIOCIE
BcriomoraressHoro raarona shall wmu will:

By the end of this week my friend K koHIy 3TO# Henenu moii apyT

will already have written his y>Ke HaIUIIET CBOHM JTOKJIa
report on history. 10 UCTOPHH.
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2.4. 3agaHus JJIs CAMOKOHTPOJISI

1. Kakas rnarossHas ¢popma ynorpedsiena B The Perfect Tenses?

1. went 2. is going 3. has gone

2. Kakas riaronbHasi popma He oTHocuTcs K The Perfect Tenses?

1. has been left 2. had left 3. has had 4. has

3. Ckasyemoe Kkakoro nmpemioxenusi ynorpeoaeno B The Perfect
Tenses Active?

1. The new car had been bought by my father.

2. The group has done all the exercises.

3. The cup has been broken recently.

4. Ckazyemoe kakoro npemioxenusi ynorpeoaeno B The Perfect
Tenses Passive?

1. I have bought milk, butter and cheese.

2. The book will have been read by the next week.

3. She had been to Paris already.

5. Kakue o0crositeibecTBa BpeMeHH ynorpeduasitoresi ¢ The Pre-
sent Perfect?

l.now 2.ever 3.just 4.still 5.always 6. already

6. Ilpn oOpameHnu NpeIoKeHUS] B KOCBEHHYI0 pedb IJIaroJ
B MOBEJHMTEIbHOM HAKJIOHEHUH 3aMEHsSIeTC s

1. mpuuacTueM 2. repyHIuEM 3. uHQUHUTHBOM

7. BelOepurte 00cTOATEILCTBO BPpEeMEHH, KOTOpPOe NPH IepeBoje
NpelJIosKeHUI B KOCBEHHYIO peub npuHuMaeT ¢popmy the next day.

1. today 2. now 3. tomorrow

8. BbiOepuTe npaBUIbHBIH BAPMAHT MEpPeBOAAa MNpPeNJI0KeHUS
B KocBeHHOi1 peun: He said «I have closed the window».

1. He said that he had closed the window.

2. He said that he closed the window.

3. He said he has closed the window.

9. Kakoe aHrimiickoe IpeaJiOKeHHe COOTBETCTBYET PYCCKOMY
«We have done a lot of work today»?

1. PaGora ObL1a caenaHa CeroaHs.

2. MEI cliesainyd MHOTO CErOaHA.

3. M5l nesmaeM MHOT'O CETOTHS.

10. Kakoe pycckoe mnpeaJioskeHrue COOTBETCTBYET AHIJIHIICKOMY
«5 y:xe nmepeBes TeKCT»?

1. I have already translated the text.

2. I have been translated the text already.

3. I have always translated the text.
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3. YYHEBHO-METOJUYECKHUE MATEPHUAJIBI
K IPAKTHYECKHUM 3AHATUAM

3.1. YueOHO-MeTOAMYECKHE MATEPUAJIBI K TEKCTY A

TEXT-BASED ASSIGNMENTS
(TEXT A, part 1, usyuamouiee 4yTeHue)

MeTtoauyeckue peKOMeHIAlUU K TPEHUPOBOYHBIM YIIPAKHEHUAM

st Toro 4yToObl NPAaBWIIBHO BBIIOJHUTH CIEAYIOIINE YIIPAXKHEHUS,
BaM HEOOXOIUMO MPOpadOTaTh U YCBOUTH JICKCHUECKHI MaTepuall JaH-
Horo YMK.

TpeHnpoBoUHBIE 3aJaHUs PACHIPEAEIICHBI 10 TPEM YPOBHSIM CIIOKHO-
ctu — A, B, C. Ha penpoayktuBHOM ypoBHE (A) BBI JOJKHBI 3HATh:
a) nekcuueckue eauHunbl mo teMe «Cenbckoe xo3siicTBO bemapycu
u BenukoOpuTtanun»; 0) OCHOBHBIE BHIBI CIIELHATIH3ALNN OPUTAHCKUX
u Oenopycckux (epMEepCKUX XO3SIMCTB U CEIbCKOXO3SMCTBEHHYIO MPO-
IOYKIHWIO, BBIPAIIMBAEMYIO M NPOU3BOIUMYIO B 3THX CTpaHax. Makcu-
MajbHasl OIlCHKa 3HaHWil Ha ypoBHE (A) — 6 GasuioB. Ha nponyktus-
HOM ypoBHe (B) BbI JOJDKHBI: a) 3HAThH JIGKCUUECKUE SAMHULIBI 110 TEME
MoayJssi; 0) XapakTepu30BaTh YCIOBHUS IJIsI CENbCKOTO Xo3siicTBa B be-
napycu u bputaHuu; poib CenbCKOXO3SIMCTBEHHOTO CEKTOpa B 3KOHO-
MHKE 3THX cTpaH. MakcuMalnbHas OLEHKAa 3HaHuUd Ha ypoBHe (B) —
8 6an1oB. Ha tBOpueckom yposHe (C) BBl TOJDKHBI: ) 3HATH JICKCHYE-
CKHE COUHHMIIBI [0 TeMe MOAYJIs; 0) aHaJM3UPOBATH MPOLIECCHI, IPOUC-
XOAAILINE B CEBCKOM XO3SWCTBE Hamel pecryOnauku u BenmkoOpura-
HUM; CTENCHb Pa3BUTUS CEIIbCKOXO3IWCTBEHHOTO CEKTOpa B AAaHHBIX
CTpaHax; MOJOXKUTEIbHBIE MOMEHTHl M HETOCTATKU B CEIBCKOM XO35H-
cTBe. MakcumainpHas olieHKa 3HaHui Ha ypoBHe (C) — 10 6am10B.

(A) Exercise 1. Find international words in the text and translate
them.

(A) Exercise 2. Translate the following word combinations. If ne-
cessary, consult the dictionary.

The main branch, the total land area, arable lands, unstable farming,
a short growing season, low natural fertility, to drain lowlands, at the
turning-point stage, to overcome the recession of production, to extend
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exports, domestic sales of foodstuffs, due to the state support, the total
investments countrywide, large agricultural companies, dairy and meat-
processing plants, the food consumption, the main producer, a big ex-
porter.

(A) Exercise 3. Translate the following sentences.

1. Crop production has lately increased.

2. Agriculture gives food products for export.

3. Belarus is the world’s leading exporter of flax.

4. Potatoes are widely cultivated throughout the country.

5. Weather conditions here are more favorable for growing wheat.

(B) Exercise 4. Read the text and find.

1) the words which denote climate and topography
2) the words dealing with cattle-breeding
3) the words dealing with crop-growing

(B) Exercise 5. Match the words listed below with the definitions
that follow.
farmland, livestock, meadow, pasture, workforce, soil

1. Land used or suitable for farming.

2. Cattle, horses, poultry and similar animals kept for domestic use
on a farm.

3. An area of grassland often used for hay or for grazing animals.

4. Land covered with grass or herbage and suitable for grazing.

5. The top layer of the land surface that is composed of rock parti-
cles, humus, water and air.

6. The total number of workers employed by a company on a specific job.

(A) Exercise 6. Use the words listed below to fill in the gaps.
raise, employs, cover, accounts for, application, workforce, fertility,
to meet

1. Industry ... 42 percent of the ... of Belarus.

2. Forests ... about one third of the republic.

3. Agriculture ... about a seventh of Belarus economic output.
4. Most of Belarus has soils of moderate ... .
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5. ... of fertilizers makes lands more productive.
6. Farms in almost every part of the country ... livestock.
7. ... its needs the country must import additional amounts of minerals.

(C) Exercise 7. Find the key-sentence of each paragraph of the
text. Read and translate the key-sentences.

(C) Exercise 8. Complete these word-building tables.

VERBS ADJECTIVES NOUNS
1. to grow
2. economy
3. productive
4. to explode
5. applicable
6. use
7. to cultivate
8. fertile
9. industry

(C) Exercise 9. Fill in the gaps using the necessary prepositions.
Don’t consult the text.

1. The land is used ... producing cereal grains.

2. The Belarusian agricultural sector is now ... the turning-point stage.

3. Agriculture supplies us ... foodstuffs.

4. The country belongs ... the area of unstable farming.

5. The total area ... arable land was reduced ... 10 percent.

6. The goal ... Belarusian agrarians is to have reasonable price and
excellent quality.

(C) Exercise 10. Translate the sentences into English.

1. Cenbckoe X03SIMCTBO SBISIETCS OJHOM M3 TIIABHBIX OTpaciieil oeno-
PYCCKOM 3KOHOMUKH.

2. Hamma pecrry0mnmka — oMH U3 IJIaBHBIX NPOM3BOANTENCH JIbHA B MUPE.

3. Cenbckoe X035HCTBO 00ecieYMBaeT HAC MPOIYKTAMH TUTAHUSL.

4. I'naBHBIe 3epHOBBIE KYJIBTYpHI B berapyci — posb, st iMEHb H OBEC.

5. Cenbckoe xo3siicTBo benapycm mpenocraBiseT paboTy Oonee
20 % paboueii cuibl.
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TEXT STUDY
MeToanyeckne yKa3aHus H PpeKOMEHIAINH M0 padoTe ¢ TEKCTOM

BBl MODKHBI XOpOIIO YMETh: HA MEPBOM YPOBHe (A): a) YUTaTh,
MEPEeBOANTDH TEKCTHI MO CIIEHUANBHOCTH; 0) OTBEYaTh HA OOIINE BOIPO-
CBI 110 TEKCTY; B) OCYLIECTBISTH AMAJOTMUECKOe OOIIEHNE B CTaHAAPT-
HBIX CHUTyalUsX B paMKax TeMbl. MakcuManbHas OLICHKa 3HAHHUH
Ha ypoBHE (A) — 6 6as10B. Ha BTOpOoM ypoBHe (B): a) uutars, ne-
PEBOIUTH U TIOHUMATh Ha CIIyX TEKCTHI [0 CHENHMAIbHOCTH; 0) cocTas-
JSATh IJIaH TEKCTA; B) JIOTHYHO BBICKA3BIBATHCSI B PAMKaX TEMBI; BbIpa-
aThb CBO€ MHEHHUE, UCIOJb3Ysl U3ydaeMble TPaMMaTHUYECKUE SIBICHHUS;
I') BBIIOJHSTH HEPEBOJ TEKCTOB C AHTJIMICKOIO SI3bIKAa HAa PYCCKHM, CO-
Omrofast cTporuii Hay4yHBIH CTWiIb. MakcuMaibHas OLCHKa 3HaHWUN
Ha BTOpoM ypoBHe (B) — 8 6aioB. Ha Tperbem ypoBue (C): a) onu-
CbIBaTh OCOOCHHOCTH pPa3BUTHs CEIbCKOTo Xo3siictBa B bpurtanun
n CIIIA; npoBOIUTE CpaBHHUTEIBHBIM aHAIM3 MPOLECCOB, MPOUCXOIS-
X B CceIbCKOM Xo3saicTBe BenukoOpurtanun, CHIA u PecnyGuiuku
Benapycp; ©) paboTaTe ¢ pa3jaUYHON aHTIIOS3BIYHON JHUTEpaTypoi
C LIETIbIO BBINOJIHEHUS TBOPUYECKOro 3aJaHus IO TeME; B) MEPEBOANUTH
MPEIUIOKEHUSI C PYCCKOIO S3bIKA HAa aHTJIMHCKUI C HCHOJb30BaHHEM
JICKCHKH MO CHEeUUAIbHOCTH. MaKcuMallbHasi OLleHKa 3HAHUW Ha TPeTh-
em yposHe (C) — 10 day10B.

(A) Exercise 1. Choose the correct answer. Consult the text if
necessary.

1. What factors make farming difficult?
a. a short growing season
b. soils of low natural fertility

c. marshy lowlands and the contaminated area
d. all of the above

2. The 1986 explosion at the Chernobyl nuclear power station
contaminated much of the soil in

a. northern Belarus.

b. southern Belarus.

c. eastern Belarus.

d. western Belarus.
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3. A great amount of goods produced by Belarusian agriculture is
oriented towards

a. the CIS countries’ markets.

b. Russia only.

c. neighboring countries.

4. The national crops in Belarus are

a. tomatoes, water-melons and pumpkins
b. flax, potatoes and sugar beets

c. potatoes, cabbage and cucumbers

(A) Exercise 2. Answer the questions on the text:

1. Is agriculture one of the main branches of the Belarusian economy?
2. Does Belarus belong to the area of so-called unstable farming?

3. The republic is one of the main producers of flax in the world, isn’t it?
4. Do most of the farms have mixed crop and livestock farming?

5. Is our republic a traditional exporter of agricultural products?

(B) Exercise 3. Answer if the sentences are true or false. Correct
the false ones.

1. Belarus has a large amount of farmland.

2. Fodder crops are grown on the drained lowlands.

3. Livestock farming and crop farming are the main trends in the re-
public’s agrarian sector.

4. Belarus is self-sufficient only in milk and meat products.

5. One-fifth of the republic’s population is employed in agriculture.

(B) Exercise 4. Complete the following sentences with suitable
words or phrases given below:

collective farms, differ, are stipulated, to provide, inhabited, is covered,
private farms, the fertility, considerable, assets, upper, food products

1. Nearly half of the territory ... by the arable land.

2. More than two million people ... on contaminated lands.

3. Some places in Belarus ... much in the structure of topsoil.

4. One of the goals of agriculture is ... Belarusians with high quality ... .

5. In ... the produced goods and ... are collective property of collec-
tive farmers.
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6. A ... amount of radio-nuclides accumulated in the ... layer of the soil.

7. The republic is also developing ... .

8. High stable yields ... by the necessity of constant increasing ...
of soils.

(B) Exercise 5. Put the words and phrases in the right order
to make complete sentences.

1. nowadays, in a new form, reformed, the economy of Belarus, is.

2. of the agricultural goods, by, is, the larger part, big companies,
produced.

3. are, by rye, grain sowings, represented, wheat, and.

4. vegetable oil, the Republic, imported, sugar, tropical and subtropi-
cal fruits, are, by.

(B) Exercise 6. Find the key-sentences in the text. Read and
translate them.

(C) Exercise 7. Give your reasons for the following statements.
Consult the text.

1. Agriculture is one of the most important activities in Belarus.

2. The Belarusian agricultural sector is now at the turning-point
stage.

3. The agricultural output has increased greatly.

4. A power cattle breeding has been created in Belarus.

5. Potatoes are Belarusian “second bread”.

6. The Belarusian agro-industrial complex has turned into a big
exporter.

DISCUSSION
(A) Exercise 1. Answer the following questions.

1. How many people are employed in the agriculture of Belarus?

2. What types of agricultural companies produce agricultural goods?
3. Are the natural conditions of the Republic favorable for agriculture?
4. What main branches of agriculture in Belarus do you know?

5. What branches does cattle-breeding contain?

6. What are the main goals of the national agrarian policy?
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7. When did the Chernobyl accident occur? What are the consequen-
ces for the Republic?

(B) Exercise 2. Say if these statements are true or false. Correct
the false ones. Give your reasons.

1. The whole territory of Belarus is covered by the arable land.

2. After the Chernobyl accident the soil is the major source of radio-
nuclides in agricultural produce.

3. The climate of the Republic is favorable for agriculture.

4. The Republic produces highly profitable goods such as milk, beef,
pork, chicken, wheat, corn, and potatoes.

5. One of the main goals of the state policy is to provide the popula-
tion with high quality food products.

(B), (C) Exercise 3. Suppose you are at the students’ conference.
Speak on:

1. types of agricultural companies in Belarus

2. consequences of the Chernobyl accident for agriculture
3. natural conditions for agriculture

4. profitable types of agricultural goods

5. the main goals of the national agrarian policy

(B), (C) Exercise 4. Suppose you will have to make a report.
Speak on:

1. Why is Belarus called a “potato country”?
2. Is it possible to develop our national agriculture?
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3.2. Y4eOHO-MeTOAMYeCKHE MATePHAJIbI K TeKcTy B

TEXT-BASED ASSIGNMENTS
(TEXT B)

LANGUAGE STUDY

(A) Exercise 1. Make sure that you know the English equivalents
for the following words and word combinations:

CoBpeMeHHBIE TEXHOJOTHH M HCCIEIOBAaHMs, OO0LIas Iuomans c/X
yronuii, 6orarsie mIo10poIHbIE TTIOUBHI, epMa CpeJHero pasmepa, mpo-
W3BOJICTBO MOJIOKA, CBUHOBOJICTBO, OCHOBHBIC 3€pPHOBBIE KYJIbTYPHI, Ma-
JIble  KOJMYECTBA, HEOONbLIME TPAAWLUOHHBIE XO3SIMCTBA, KPYITHBIC
MIPOMBILICHHBIE (ePMBI, YaCTHBIE Jieca, OCHOBHON MCTOYHUK MHILH.

(A) Exercise 2. Put in the missing words using appropriate words
from the text:

1. The total agricultural acreage of Great Britain is about ... acres.

2. In hill countries large areas are used for ... .

3. An ... farm is about 3040 acres.

4. There are three main types of ... in Great Britain.

5. ... and ... are reared in the hill and moorland areas of Scotland,
Wales, Northern Ireland and south-eastern England.

6. Small farms are ... disappearing nowadays.

7. Potatoes are grown for ..., for ... and for ... .

(A) Exercise 3. Say “yes” or “no”.

. Wheat, barley, oats are vegetables.

. British agriculture is based on modern technology and research.
. Great Britain doesn’t import agricultural products.

. British farms are large.

. Meat production is more profitable than milk production.

. Arable farms are mainly in the northern part of the country.

. Potatoes are grown for sale, for fodder and for seed.

. Britain’s second source of food is the seas.

0NN KW~

(B) Exercise 4. Read the text and find:
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1) the words which denote climate and topography
2) the words dealing with cattle-breeding
3) the words dealing with crop-sowing

(A) Exercise 5. Find in the list below the words corresponding
to the following definitions:

Arable farms, horticulture, crops, soil, fodder, to import, pastoral

farming, cereal, mixed farming

1) farms used (or suitable) for growing crops;

2) farming which involves keeping sheep, cattle, etc.;

3) the method of farming in which crops are grown and animals are
kept on the same farm;

4) a type of grass which is cultivated to produce grain, or food made
from grain which is eaten;

5) the study or activity of cultivating gardens;

6) to buy or bring in products from another country;

7) the material on the surface of the ground in which plants grow;

8) food that is given to cows, horses or other farm animals;

9) a plant such as grain, fruit or vegetable grown in large amounts
by farmers.

(A) Exercise 6. Fill in the blanks with the suitable words from the
following list:

Agriculture, horticultural, average, farming, self-sufficient, sup-

ply, sheep, produced, profitable, grazing

1. Britain today is ... in milk, eggs, potatoes, barley, oats.

2. Great Britain is a country with a highly developed industry and ... .

3. In hill countries large areas are used for ... .

4. An ... sized farm is about 3040 acres.

5. British farmers ... milk and milk products, meat, wool and eggs
for the population.

6. Before the Second World War Britain ... one-third of its total food
requirements.

7. ... crops are fruit, vegetables and flowers.

8. ... farming is concentrated in the hill moorland areas of highland
Britain.
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9. It is more ... to import cheaper products from overseas, mainly
from Australia, New Zealand and Canada.
10. The land utilized for ... is about 251.000 hectares.

(C) Exercise 7. Find the key-sentence of each paragraph of the
text. Read and translate the key-sentences.

(C) Exercise 8. Insert prepositions where necessary.

. British agriculture supplies 2/3 ... country’s food.

. Itis based ... modern technology.

. Soils vary ... the poor ones ... rich and fertile.

. Britain is self-sufficient ... meat, potatoes, wheat.

. The main cereal crops ... Britain are wheat, barley, and oats.
. Potatoes are grown ... sale, fodder and seed.

. Modern machines are used ... British farms.

. Private woods make ... 56 % of the total forest area.
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TEXT STUDY

(A) Exercise 1. Choose the correct answer. Consult the text if
necessary.

1. Agriculture in Great Britain supplies ... of the country’s food.
a) one-third

b) two-thirds

c) a half

2. Nearly ... of the land is used for agriculture.
a) 30 %
b) 50 %
c) 80 %

3. Arable farms are mainly in the ... part of the country.
a) southern

b) western

c) eastern

4. The main cereal crops in Britain are ... .
a) rye, millet, and sorghum
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b) wheat, barley, and oats
c¢) buckwheat, millet, and rye

(A) Exercise 2. Answer the questions on the text.

. What is Britain self-sufficient in?

. Are the farms large in Great Britain?

. What is of the first importance in the structure of British agriculture?
. What are the main grain crops in Great Britain?

. Is rye grown in the country?

. Where are sheep and cattle reared?

. Is British agriculture efficient?

. What do you know about cattle-breeding in Great Britain?

. What is Britain’s second major source of food?
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(A) Exercise 3. Answer if the sentences are true or false. Correct
the false ones.

1. British agriculture is not efficient.

2. Nearly 80 % of the land is used for agriculture.

3. Britain does not need to import sugar, butter, and cheese.
4. The farms are large in Great Britain.

5. There are two main types of farming in Great Britain.

6. Modern machines are used on British farms.

7. Potatoes are grown only for fodder.

8. There are no private woods in Great Britain.

9. Small traditional farms are gradually disappearing.

10. The fishing industry is not developed in the country.

(B) Exercise 4. Complete the following sentences with suitable
words or phrases given below:

quantities, self-sufficient, supplies, compete, cereal crops, acreage,
source

1. Small traditional farms are disappearing because they cannot ...
with big industrial farms.

2. Britain’s second major ... of food is the surrounding sea.

3. The fishing industry provides about 70 % of British fish ... .

4. The total agricultural ... of Great Britain is about 45,000,000 acres.

5. Britain is ... in milk and eggs.
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6. The main ... in Britain are wheat, barley and oats.
7. Rye is grown in small ... .

(B) Exercise 5. Put the words and phrases in the right order
to make complete sentences.

1. farms, machines, modern, British, on, used, are.

2. and, fertile, soils, rich, vary, ones, poor, the, from, to.

3. seed, are, fodder, grown, sale, for, potatoes, and.

4. production, milk, of, is, structure, the, of, agriculture, British, first,
importance, in, the.

5. are, small, nowadays, farms, disappearing.

(B) Exercise 6. Find the key-sentences in the text. Read and
translate them.

DISCUSSION
(A) Exercise 1. Answer the following questions.

. Is agriculture one of Britain’s most important industries?

. Is it based on modern technology?

. Is British agriculture efficient?

. Does the country import butter, cheese and sugar?

. How many types of farming are there in Britain? What are they?
. Does British agriculture specialize in milk and meat production?
. What are the main cereal crops in Great Britain?

. What is rye used for?

. What kinds of fruit does Great Britain produce?

10. What is the main tendency in British agriculture today?

11. What is Britain’s second major source of food?
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(B) Exercise 2. Fill in the chart.

The Role | Branches . Rate of the .| Major
. . Size of Main | ;.
Country | of Agricul-|of Agricul- Develop- Live-
the Farms Crops
ture ture ment stock
Belarus
Great
Britain
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(B, C) Exercise 3. Discuss in groups:

1. Belarusian agriculture in the 21% century: problems and prospects.
2. Belarusian agriculture needs reforming.
3. Agriculture is one of the main branches of the Belarusian economy.

(B, C) Exercise 4. Suppose you are taking part in the students’
conference. Speak on:

1. The agricultural development in Britain and in Belarus.

2. The difference between Belarusian and British agriculture.

3. The experience of successful agricultural practices in developed
countries.

(B, C) Exercise 5. Discuss some interesting facts in groups.

1. British agriculture is noted for its high level of efficiency and pro-
ductivity?

2. British agriculture engages only 2,1 per cent of the total work-
force?

3. In 1998 there were some 244,000 farm holdings?

4. An average size of a farm is 70 hectares?

5. About two-thirds of agricultural land is owner-occupied?
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3.3. GRAMMAR REVISION
Perfect Tenses (Active)
MeTtoan4yeckne peKoOMeH AN

it Toro 4To0BI TIPaBUIIEHO BHIMOJNHUTH 3aqanus pasnena GRAM-
MAR REVISION, BaMm HE00X0IMMO MOBTOPUTH (MM U3Y4UTh) U YCBO-
UTHh MaTepuall M0 YKa3aHHBIM TeMaM I'pPaMMAaTHKH, ONUPAsCh Ha LIKOJb-
HBbIC 3HAHUSI TPAMMATHKM aHIJIMICKOro s3bIKa M TOT CIIPABOYHBIM MaTe-
puan, KOTOPbI NPeACTaBlIeH B JaHHOM MoJyJe B paszaenax 3.1.-3.3.

Crenyronye TPEHUPOBOUHBIC 33aHUs paclpeiesIeHbl IO TPEM YPOB-
HSM clIoKHOCTH (A, B, C), yTO moMoraet npoBepuTh U OLEHUTH ITyOu-
HY ¥ KaueCTBO YCBOCHHS MaTepHaa.

MakcumainbHas OLIEHKa 3HaHUN Ha IEpBOM ypoBHE (A) — 6 0a/LI0B,
Ha BTOpoM (B) — 8 6an1oB, Ha TpetheM (C) — 10 6asnoB.

(A) Exercise 1. Open the brackets using the verbs in Present Per-
fect Active.

Model: He just (write) a report. — He has just written a report.
1. I already (to finish) milking cows. Now I am free.

2. He just (to feed) the horses.

3. He just (to come) to the farm.

4. Nick (to water) the vegetables this morning.

5. She already (to mix) the fodder for pigs.

6. I already (to apply) organic fertilizers.

(A) Exercise 2. Open the brackets using the verbs in Present Per-
fect Active.

1. You ever (to be) to our workshops?

2. You (to see) the moorlands of Scotland?

3. We (not yet to eat) today. We are busy on the farm.
4. You (to graze) the cattle yet?

5. What he (to prepare) for today?

(A) Exercise 3. Insert the prepositions since and for.

1. The students haven’t bought new books ... January.
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2. We haven’t seen our relatives ... ages.

3. We have lived in this village ... many years.
4. It hasn’t snowed here ... six months.

5. We haven’t been to the farm ... December.
6. I haven’t spoken English ... June.

(A) Exercise 4. Put the verbs in Present Perfect using the adverbs
just, yet, already, ever, never.

Model: He is working in the field. (already) — He has already
worked in the field.

1. I am closing the door. (just)

2. She is filling the bucket with water. (already)

3. Are you visiting the farm? (ever)

4. He is finishing his work. (already)

5. Isn’t he starting to weed the garden? (yet)

6. They are planting apple trees. (never)

(A) Exercise 5. Put the verb in brackets in Present Perfect using
the prepositions since and for.

1. They (to own) this farm ... 1992.

2. We (not to plant) roses ... many years.

3. I (not to examine) the engine ... a week.

4. It (to rain) every Monday ... the beginning of May.
5. She (to milk) the cow twice a day ... six months.

6. They (not to weed) their garden ... last week.

(A) Exercise 6. Change Present Continuous into Present Perfect.
Translate the sentences into Russian.

1. I am planting flowers.

2. We are digging the soil.

3. He is bringing them some vegetables.

4. The students are preparing the seedbeds for planting.
5. They are weeding the front row.

6. Kate is milking the cow.

(B) Exercise 7. Open the brackets using the verbs in Present Per-
fect or Past Simple.
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1. We (to plant) more rye last year.

2. 1 (to help) Pete to repair the tractor today.
3. She (to harvest) cucumbers last Sunday.
4. 1 just (to meet) our chief engineer.

5. She (to take care) of calves last year.

6. The tractor (to stop) on the hill.

(B) Exercise 8. Open the brackets using the verbs in Present Per-
fect or Past Simple.

1. When he (to mow) the grass?

2. Who (to come) to the farm a minute ago?

3. Nick (to water) the vegetables yesterday?

4. She (to mix) the fodder for pigs yet?

5. You ever (to see) a combine-harvester in operation?
6. You (to graze) the cattle yesterday?

(B) Exercise 9. Open the brackets using the verbs in Past Perfect
or Past Simple.

1. When I (to come) home, mother already (to stir) the fodder for the
sheep.

2. When father (to return) from work, we already (to feed) our geese.

3. When the mechanic engineer (to enter) the garage, the drivers al-
ready (to check) their engines.

4. Kate (to give) me the fertilizers she (to buy) the day before.

5. The boy (to give) the goats the grass which he (to bring) from the field.

6. Mother (to see) that Nick (not to wash) the milking machine.

(B) Exercise 10. Open the brackets using the verbs in Past Perfect
or Past Simple.

1. He (to study) French before he (to enter) the university.

2. Nick (not to know) who (to plough) the field.

3. Suddenly he (to remember) that the chief engineer (not to ring)
him up in the morning.

4. By the time he (to reach) the farm, he (to meet) a lot of farm
workers.

5. When the mechanic engineer (to leave), the drivers (to hurry)
to test the engines.
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6. By the time we (to come) to the garage, he already (to repair) the
tractor.

(B) Exercise 11. Choose the appropriate adverbial modifier of time.
Translate the sentences into English.

1. Belarusian engineers have made great progress in machine-buil-
ding. (by 2015, by 2001, this year, soon)

2. When I came to their plant, engineers had tested a new model
of the sports car. (by 3 o’clock tomorrow, already, today, at present)

3. Scientists have given the greatest importance to the further deve-
lopment of gas equipment. (recently, by the end of the year, in future,
last year)

4. They will have finished the process of the technical re-equipment
of transport. (at that time, by that time yesterday, since last year, by the
time you visit them again)

5. The automobile industry has made progress in all types of trans-
port. (not long ago, for the last 3 years, at that time, next year)

(B) Exercise 12. Identify the meaning of the verb in italics. Trans-
late the sentences into English.

1. Although machine-building has been a branch of human activity
for centuries, only in the 20" century machines have begun to assume
such an all-important role.

2. The engineer had visited many plants and designing offices, he
had personally examined a great deal of different types of machines and
had done a lot of work on his thesis, before performing a large number
of experiments.

3. Id like to know whether the series of experiments I save already
performed and the data which I have obtained are enough.

4. These remarkable technological achievements have become possi-
ble due to the specially designed mechanisms and machines.

5. Man has obtained ultra-high and ultra-low temperatures, ultra-high
vacuums, super-high pressures, ultra-high strength, super-elastic and
superconducting materials and has been able to study the interaction
of super-high-energy particles.

(B) Exercise 13. Analyze the use of the following sentences. Trans-
late the sentences into Russian.
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1. I carry out a number of experiments. I am carrying out a number
of experiments now. I have already carried out a number of experiments.
I carried out a number of experiments yesterday. I will have carried out
a number of experiments by the time you come. I had already carried out
a number of experiments when you came.

2. At present the research engineer is establishing the relationship be-
tween the time when the pipes were in operation and the breaking force.
The research engineer has already established the relationship between
the time when the pipes were in operation and the breaking force. Two
years ago the research engineer established the relationship between the
time when the pipes had been in operation and the breaking force.

3. This plant produces more and more chemicals with every passing
year. This plant has produced a great amount of chemicals this month.
This plant produced a great amount of chemicals last month. This plant
will have produced a great amount of chemicals by the end of the year.
This plant had already produced a great amount of chemicals by the time
you visited it.

(B) Exercise 14. Translate the sentences into Russian.

1. Scientists have recently modernized all means of production
in this field.

2. Government had put into operation sixteen specialized plants in-
cluding the first section of a plant in Cheboksary for the manufacture
of heavy-duty tractors for melioration and construction work by the end
of 1975.

3. A desire to advance man’s potential in all directions has always
marked the development in all fields of science and technology.

4. Scientists have paid great attention to materials whose properties
can be changed and controlled.

5. Engineers have developed all these components into a complicated
mechanism, and they have made detailed drawings of all component parts.

(B) Exercise 15. Fill in the gaps in the sentences using the suitable
tense-forms from the box. Translate the sentences into Russian.

| to prove  to work out to produce to check to occupy |

1. This complex ... many new types of vehicles recently.
2. The KAMAZ plant ... a huge territory of almost 1,000 hectares.
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3. After the engineer ... finally ... he drawings and found them satis-
factory, materials are ordered.

4. The scientists ... that materials may exist whose properties are as
superior to those of diamond as diamond is superior to carbon.

5. Our specialists and representatives of the Renault Company of Fran-
ce ... the technological processes of manufacturing the engines.

(B) Exercise 16. Choose the appropriate adverbial modifier of time.
by 1920, lately, by 1980, yet, by the end of next year, this year,
by the beginning of the next decade

1. Population will have used cars with less toxic exhaust gases.

2. The government had reorganized the first Russian automobile
laboratory into the Automobile Research Institute.

3. The laboratory hasn’t solved this difficult problem.

4. The professor has engaged our students in research under the gui-
dance of instructors.

5. The scientist has discovered super-plasticity of metal alloys.

6. Belarusian and foreign scientists had closely studied this astonish-
ing phenomenon.

7. What new designs will have stylists suggested?

(B) Exercise 17. Write down the questions for which the follow-
ing sentences are the answers.

1. The characteristics of engineering materials affect manufacture
and application of materials.

2. Mechanical properties of a material are of great interest to the en-
gineer.

3. Super-plasticity has been detected in a great number of metals and
alloys.

4. Many Belarusian scientists have contributed to the solution of all
these fundamental problems.

(C) Exercise 18. Open the brackets using the verbs in Present
Perfect, Past Simple, Past Continuous or Past Perfect.

1. I just (to see) the General Manager of our plant.
2. She (to whitewash) the trees from five till six yesterday.
3. At this time yesterday I (to cut) the grass.
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4. The meeting (to begin) before I (to come) to work.
5. I understood that she (not to read) my report.

6. She (to feed) the chickens when I (to come).

7. He (to come) to work late yesterday.

(C) Exercise 19. Open the brackets using the verb in Future Sim-
ple, Future Continuous or Future Perfect.

1. I (to work) on the farm tomorrow.

2. I (to work) on the farm at six o’clock tomorrow.

3. I(to work) on the farm by six o’clock tomorrow.

4. When I come home tomorrow, my family (to have) supper.

5. When you come to my place tomorrow, | (to harvest) apples. I (to cut)
the grass by the time you come.

6. Don’t come to my place tomorrow. I (to prepare) a report the
whole evening.

(C) Exercise 20. Translate the sentences into English using Pre-
sent Perfect or Present Continuous.

1. 51 TONBKO UTO mOCAIUII IIBETHI.

2. M&I elie He TOATOTOBUIIU TPSIKU.

3. OHu Bce emne yOUparoT 3epHOBBIC.

4. 51 yxe mOKOPMHUJI CBOUX YTOK.

5. Y Hac ceroaHs OblTa MpakTHKa Ha hepMe.
6. OHa ewie He MOAOUIa KOPOBY.

(C) Exercise 21. Make up sentences using the following Perfect
forms of the verbs.

...has worked out...
...has made...

...has manufactured. ..
...had finished...

...will have discovered...
...have developed...
...has determined...
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(C) Exercise 22. Open the brackets using the verb in the correct
tense-form.
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1. The administration recently (to re-equip) our plant with every fa-
cility for body work including cold stamping of the main body compo-
nents.

2. Nowadays engineers (to design) new machines to deal with new
problems which continually arise in modern industry.

3. Scientists (to discover) the phenomenon of superconductivity more
than half a century ago.

4. At present engineers (to make) great progress in technical re-
equipment of automobile transport.

5. The Volzhsky Car Works in Togliatti (to produce) this new model.

6. Producers lately (to present) an all-plastic car: nearly the whole car
except the engine and transmission is of plastics or reinforced plastics.

(C) Exercise 23. Translate into English using The Perfect Tenses.

1. Bo1 korma-HuOy b Buaenu KoMOaiH?

2. MuI erie He 3aKOHYWIH padoTy.

3. 51 XuBY B 3TOH €pEBHE C MPOILIIOrO roja.

4. Korga Jlena BpIIia M3 KOMHATBHI, OHa BCIOMHMJIA, YTO 3a0blia
KHUTY Ha CTOJIE.

5. Buepa k BOCbMH Bedepa OH yKe yeXal B ACPEBHIO.

6. 5l HamUIy MTUCBMO JO TOTO, KaK Thl IPUACIIb.

7. K xoHIy Hellenu OHM MepeBeayT KHUTY.
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4. 3AJIAHMSI 110 YIIPABJISIEMOM CAMOCTOSTEJILHOM
PABOTE CTYAEHTOB U PEKOMEHIAIIHN
1O UX BBIITOJIHEHUIO

Tembl: AGRICULTURE IN BELARUS;
AGRICULTURE IN GREAT BRITAIN;
AGRICULTURE IN THE ENGLISH-SPEAKING COUNTRIES

MeTtoandeckne peKoMeHIaHN

B pazzene «Hayuno-teopernueckoe coaepkaHue MOAYJISD» CTYIEHTY
HEOO0XOIMMO HOBTOPUTH TEOPETHUECKUH MaTeprall O Ha4albHOM TE€XHH-
YECKOM IEePEeBOJE, IPaMMAaTHYECKMX OCOOEHHOCTAX TEXHMYECKOTO aHT-
JIMACKOTO $I3bIKA, IIEPEBOJIE TEXHUUECKUX TEPMUHOB, MOCIEI0BATEIBHO-
CTH PaboTHl MpH NepeBoje. 37ech TakKe MpeaaracTcs METOIUKa CO-
cTaBJieHUs pedepaTa U aHHOTALUH, 00pa3Lbl KIUIIUPOBAaHUS pedepaToB
W aHHOTaUWi Ha WHOCTPAHHOM S3bIKe, 00pa3ubl pedepaTa U aHHOTALUH
Ha UHOCTPAaHHOM SI3BIKE.

IIpennaratorcs 3ananus anst Y CPC Tpex ypoBHEH CIIOKHOCTH:

® YpOBeHb A (PEIpOIyKTUBHEII): MaKCUMAaJIbHAS OTIeHKa 3HAHUH — 6;

® ypoBeHb B (IIpOoAyKTUBHBIN): MaKCUMaJIbHAs OI[EHKA 3HAHU — §;

e yposeHb C (TBOpUeCKUi): MaKCUMasbHas OleHKa 3HaHui — 10.

VYPpOBEHb CIOXXKHOCTH 33JlaHUM ONpeAessieTcs] KOJUYECTBOM 3HAKOB
Ha MepeBoll, 00bEMOM TEKCTa, CTENICHBIO CII0KHOCTH TEKCTA.

Kax it ypoenb YCPC 1o Moaysito coaepKuT 3 3a1aHus:

1. Translate the highlighted paragraph. Use the dictionary. (ITepese-
IUTE BBIACICHHBIN (parMeHT TEKCTa, UCIOJIb3YHTE CIOBaph.)

2. Make up a plan of the text. Find and write down the key-words
to each point of the plan. (CocTtaBbTe miaH TeKCTa, HAWAWTE U BBHITTUIIIN-
TE KJIIOYEBBIC CIIOBA K KAXIOMY ITyHKTY IIJIaHA.)

3. Make up a summary of the text. (CocraBbTe pedepar TexcTa.)
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4.1. Oopa3ubl YCPC no moay.o «CesibcKkoe X0351iICTBO
Pecny6siuxu beaapycs u BetukoOpuranum»

YpoBens A
CATTLE-BREEDING IN GREAT BRITAIN
Task 1. Translate the highlighted paragraph. Use the dictionary.

The climate of the British Isles is ideal for cattle. Therefore,
they are found practically in all areas, particularly in the Mid-
lands and south-west of England, the lowlands of Yorkshire and
the coastal areas of Scotland, Wales, the Lake District and North-
ern Ireland. In contrast, sheep are concentrated in uplands
of Scotland, Wales, northern and south-western England and
Northern Ireland.

Since British agriculture is highly specialized, cattle serve different
purposes in different districts. There are two kinds of cattle: dairy cattle
and beef cattle. The need for daily deliveries of fresh milk has given rise
to particular concentration of dairy cattle on lowlands close to densely
populated areas. Beef cattle are more widely distributed throughout the
British Isles than dairy cattle, and rearing extends into upland regions far
from urban areas.

Sheep no longer play such an important part in British agriculture
as they did in the past, when there was a steady export of wool to the
continent of Europe. Nowadays they are in general numerous only
on land which is unsuitable for other types of farming. Although lamb
production is the main source of income for sheep farmers, wool is
also important.

Most farmers keep pigs and poultry. Pig production occurs in most
areas but it is particularly important in northern and eastern England.
There exists a high degree of specialization. Poultry farms are chiefly
concerned with the supply of eggs to local markets and the production
of poultry meat. Britain remains self-sufficient in both.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.
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Ypogens B
FLAX
Task 1. Translate the highlighted paragraph. Use the dictionary.

Flax is one of the oldest cultivated crops. Flaxseeds that have
been found in Syria and Turkey indicate that the plant might have
been grown as early as 7000 B. C. The Egyptians began cultivating
flax about 5000 B. C. By about 1000 B. C., the cultivation of flax
had spread to Western Europe. In the A. D. 700, the areas that are
now Belgium and France became leading producers of fine linen.
Flax is a plant raised for its fiber and seed. The fiber is made into
linen fabric and a variety of other products, including rope, thread,
and high-quality paper. The seeds contain linseed oil, which is used
primarily in the production of paints and varnishes. There are about
230 species of flax. Only one species, Linum usitatissimum, is grown
commercially. Different varieties of this species are grown for fiber
and for seed.

Flaxseeds consist of about 40 percent oil and 60 percent water and
solid matter. One bushel of seeds produces about 2 V2 gallons (9,5 li-
ters) of linseed oil. The meal that remains after processing is used
as a high-protein feed for livestock. People also use ground flaxseed
to make breads and other foods. World production of fiber flax
amounts to about 700,000 tons annually. China is, by far, the leading
country in fiber flax production. Other leading growers include Bela-
rus, France, the Netherlands, and Russia, The United States and Ca-
nada do not raise fiber flax. World flaxseed production totals about
100 million bushels, or 2,800,000 yearly. Leading flaxseed-producing
countries include Canada, China, India, the United Kingdom, and the
United States.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.
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Yposens C
GROWING AND PROCESSING FIBER FLAX
Task 1. Translate the highlighted paragraph. Use the dictionary.

Fiber flax grows best in cool, moist climates with rainy summers. It
is planted in spring after the danger of frost has passed. Fiber flax is
generally grown in rotation with other crops. Rotation helps reduce
the effects of diseases.

Fiber flax is harvested three to four months after planting. If the
plants are harvested too early, the fibers will be fine and silky, but
weak. If the plants become too ripe, the fibers will be stiff and rough
and difficult to spin into yarn. Farmers harvest fiber flax with a ma-
chine that pulls the stalks from the ground. On some farms, workers
harvest flax by hand.

After the plants have been harvested, the flax stems are soaked
in water. This process, which is called retting, rots the stalk and ex-
poses the fibers that lie under the woody part of the stem. There are
two methods of retting — dew-retting and water-retting. In dew-retting,
farmers spread the flax in the field and allow the dew to rot the plants for
several weeks. During the dew-retting process, the stems are turned se-
veral times and the seeds are removed. In water-retting, the seeds are
removed first and the stems are then soaked in large tanks of warm water
for four to eight days.

After retting, the flax stems are dried and sent through a machine that
breaks them into small pieces called shives. Next, in a process called
scotching, the machine separates the shives from the fibers by beating
the stems with a whirling paddle or blade. In the next stop; called hack-
ling, the tow (short) and line (long) fibers are straightened and separated
from each other by combing. After combing, the fibers are bailed and
sent to mills for processing. The seeds that were removed from the
plants are processed for oil.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.
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4.2. CocraBjieHre aHHOTALMI U pedpepaToB
MeTtoanyeckne peKOMeH AN

Brl nponomxkaere paboOTy MO COCTaBICHUIO aHHOTAILMKM U pedepaTos
TekcToB. Mcnone3yiite pasmen 2.5. moaynst « COUMOKYIBTYPHBIN HOPT-
pPeT MOJIOZEXW» JJIsl TIOBTOPEHHUSI alrOpuTMa COCTaBJieHUs pedepara,
KJIMIIMPOBAHHBIX BBIPQXKEHUH IJIS1 COCTABJICHUs pedepara.

Oo0pa3sen cocTaBjieHns pedpepaTa M AHHOTALMHI K TEKCTY
HOW SCIENCES CONTRIBUTE TO AGRICULTURE

One science may help, make, or contribute to another science. What
sciences contribute to agriculture?

Botany contributes to agriculture, for botany is the science of plants,
and plants are important in agriculture.

Bacteriology, the science dealing with bacteria, contributes to agri-
culture. Many diseases of plants and animals are caused by bacteria and
fungi. It is probable that we would have no crops or animals without our
knowledge of controlling plant diseases and animal diseases.

Zoology, the science of animals, contributes to agriculture, as does
entomology, which treats of insects. Man could not control insects
unless he knew their nature and habits, their food, their life history, their
enemies. This represents a vast amount of knowledge gained and
proved. The modern farmer knows how to control most of the harmful
insects.

In our study of how plants make their food, we touch on chemistry,
the science that treats of the composition of things and the changes that
take place in them.

Physics had told us most of what we know that has helped us to de-
velop machines and power for use in farming.

Geography, the science of the earth and its life, makes contribution
to agriculture. So does economics, the science that treats of the produc-
tion, distribution, and consumption of things.

Through the science of breeding, dairy cattle have been developed
for high production of milk, and beef cattle for production of beef. Like-
wise, there is improvement in other kinds of livestock. Science has made
it possible for us to know how to feed any kind of farm animal for any

purpose.
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Without knowledge of soils and fertilizers which we have gained and
proved, agriculture would be poor indeed. Without science, we would
not know that we should grow legumes in order to take nitrogen from
the air, nor would we know how to fertilize intelligently. We are making
much progress in learning how to control soil erosion.

Forest fanning is today recognized as an important part of agricul-
ture. Modern scientific principles of forestry are being widely applied.
We know how trees live and grow, what their enemies are. Much
knowledge is being gained and proved about the relation of forests
to climate, stream flow and erosion, and about various problems of ma-
nagement. Also, new uses are being found for the products of the forest.

AHHOTALIUA
(Annotation)

This article deals with the problem of interaction and interconnection
of all the sciences and, in particular, how the sciences contribute to agri-
culture.

Pedepar (pesrome)
(Abstract, summary)

This article is devoted to the problem of interaction of the sciences.
Botany (the science of plants), zoology (the science of animals), bacteri-
ology (the science of bacteria), entomology (the science of insects), ge-
ography (the science of the earth), physics, economics, chemistry are
deeply interconnected with agriculture. Studying at the agricultural uni-
versity and being a future specialist in agribusiness, it’s necessary to pay
much attention to all these sciences.
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5. IPUMEPBI 3AJIAHUM J1JISI KOHTPOJIS PE3YJIBTATOB
N3YUYEHUSA MOOYJIAA

5.1. O6pazen HTOrOBOrO JEKCHKO-TPAMMATHYECKOI0 TECTA
1o Moy «Cesbckoe xo3siicTBo Pecy0sinkn benapycs
" BesmmxkoOpurannm»

MeTtoanyecKkne peKOMEeHIANNY IS HAMCAHUA UTOTOBOT0
JIEKCHKO-TPAMMATHYE€CKOT0 TECTa 10 MOIYJII0

s nanucanusa umoe06020 eKCUKO-ePAMMAMULECK020 Mecma no Mo-
07110 HEObX0OUMO:

1) IOBTOPHUTE TEOPETHYECKUN TPpaMMaTUYECKUH MaTepuall o MOAY-
710 U3 paznena «Hay4qHo-TeopeTuueckoe coepskaHre MOIYIIsD»;

2) HOBTOPHUTH CIIOBAPb-MHUHHMYM JIEKCHUYECKUX CAWHHII U PEUEBBIX
mozeneit mo teme «Cenbckoe xo3siicTBo Pecny6onuku bemapycs u Be-
TUKOOpuTaHuM (TEKCTH A, B);

3) BBINOJIHUTH 3aJJaHUS B TOM IMOPSAKE, B KAKOM OHH JIaHbI B TECTE.

Exercise 1. Choose the correct form in each sentence.

1. Belarus is considered to have (low/high) prices for foodstuffs
among other countries in transition.

2. The main cereal crops (a/in) Great Britain are wheat, barley and oats.

3. British farmers (has/have) grown a lot of fruit and vegetables
in the Garden of England.

4. Arable lands account for about 30 % of the cultivated land
(area/space) in Belarus.

5. The (whether/weather) in the North of Great Britain is considera-
bly colder.

Exercise 2. Choose the correct form in each sentence.

1. About 4-5 (millions/milliones/million) tones of grain was supplied
to Belarus in the Soviet Union times.

2. The Chernobyl nuclear power station (influenced/accomplish-
hed/did) the productivity of the soil.

3. (Barley/Milk/Sheep) is used to make butter and cheese.

4. Both researchers and farmers (had gained/have gained/had gained)
a wealth of experience in storing and processing fruits and vegetables.
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5. Nowadays the area available (by/for/in) farming is being gradually
reduced.

Exercise 3. Complete these sentences with the right variant.

1. Over three-quarters of the land area is (faken/given/put/used) for
agriculture.

2. The remainder area being mountain, forest or put (by/about/in-
to/to) urban and other uses.

3. Nowadays (some/no/any/both) questions in the British agriculture
is discussed by the government.

4. Agricultural problems should be taken into (notice/attention/consi-
deration/conclusion).

5. The area available (at/by/for/to) farming is being gradually re-
duced to meet the needs of housing and industry.
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5.2. 3apanus A py0e:KHOTO KOHTPOJIA O MOAYJII0
«Ceanbckoe xo3siicTBO Pecnyoiuxu benapycs
u Be1ukooputanum»

MeTtoanyeckne peKOMEHIANMH JJIs1 pPyOesKHOr0 KOHTPOJIA
10 YPOBHSIM CJIO’KHOCTH

(A) CTyIeHTBI JOIKHBI 3HATH CIIOBAPh-MUHUMYM JIEKCHUECKHUX €JTU-
HUIl ¥ PEUYEeBBIX Momenei mo teme «Cenbckoe X03s1cTBO PecmyOmuku
benapych 1 BenmukoOpuTaHumy; yMeTh OCYIIECTBISTh IIEPEBO OTICIIh-
HBIX MPEMJIOXKECHUN [0 TEME C AHTJIMICKOTO SI3bIKa Ha PYCCKHUH S3BIK;
yMETh OTBeYaTh Ha OOIIME BOMPOCH IO TeMEe; YMETh CAeNaTh YCTHOE
cooOmieHue 1o 1000 u3 cutyaunii ypoBHs A (6—8 pa3BepHyTHIX Ipea-
TIOKEHHIA );

(B) cTyneHTHl AODKHBI 3HATHh CIIOBAPh-MUHUMYM JICKCHUECKUX €TU-
HHII 1 pedeBbIXx Moneneil mo Teme «Cenbckoe xo3siicTBo PecmyOnukn
benapycr u BenmnkoOputranum»; yMeTh OCYIIECTBISATH TIEPEBOJ] OTACITb-
HBIX CJIOBOCOYETAaHUI M MPOCTHIX MPEUIOKEHUH MO TeMe C PYCCKOTro
A3blKa Ha AHIVIMKACKHUM A3BIK; YMETh OTBEYAaTh HA BONPOCHI IO TEME;
yMeTh BecTH Oecemy 1o o0oit u3 curyaruii yposHsa B (8—10 passepHy-
TBIX TPEAJIOKEHUH ).

(C) cTyneHTbl AOIKHBI 3HATh CIOBAPb-MUHUMYM JIEKCHYECKHUX €IU-
HUI[ ¥ pedeBbIXx Mojeneit o Tteme «Cenbckoe xo3stiicTBO PecryOnmku
benapycr u BenukoOputanumn»; yMeTh OCYIIECTBISATH MEPEBOA MPEIO-
’KEHUH 10 TEME C PYyCCKOrO A3bIKa Ha aHTJIMHCKUM S3bIK; YMETh OTBEYATh
Ha BONPOCH MO0 TeMme (BBICKAa3aTh CBOIO TOUKY 3pEHHMs); BECTH Oecemy
1o oxHO# m3 cutyamuid ypoBHst C (10—15 pa3BepHYTHIX MPEATIOKEHHH ).

Ilepeuennb cutyaumii Ajsi pyoe:KHOr0 KOHTPOJISI
10 YPOBHSAM CJIO’KHOCTH

YpoBens A

1. Give a brief presentation of different species of plants grown
in our republic. What are the main species of livestock in our country?

2. Tell your group mates what you know about the main types
of farming in Great Britain? Describe them.
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Yposens B 6. OTBETBI K TECTOBbIM 3ATAHUAM

3. At the students’ conference you are to make a report about the OTBeTHI K 3aJaHUSIM JJIsl CAMOKOHTP0JIsI
Belarusian agro-industrial complex. Why has it turned into a big ex-
porter? What agricultural products does our republic export? No 1121314 5 6171819
4. Speak about British agriculture in general. What is of the first im- BapuaHT oTBETa 314121212,3,6[3[3[1]2
portance in the structure of British agriculture? What is the main ten-
dency in British agriculture today? OTBeThbI K HTOTOBOMY JIEKCHKO-TPAMMATHYECKOMY TECTY
Yposens C Exercise 1 1. low
5. At the International conference and you are to compare British and g LI;V e
Belarusian agriculture. Name advantages and disadvantages of each 4' area
country. Give reasons for your opinion. 5' weather
6. Speak about the differences and similarities in the structure of Be- - —
larusian and British agriculture. Exercise 2 L. mllhon
2. influenced
3. Milk
4. have gained
5. for
Exercise 3 1. used
2.to
3. some
4. consideration
5. for
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7. MPUJIOKEHHUE
AGRICULTURE IN LONDON
Exercise 1. Read and translate the text using a dictionary.

Agriculture in London is rather a small enterprise, with only 8.6 %
of the Greater London area being used for commercial farming, nearly
all of which is close to Greater London’s outer boundaries. There are
a few city farms closer to the centre of the city and about 30,000 allot-
ments. There are 135,66 square kilometers of farmland in the Greater
London area. Nearly all of the farmland in the London area is a basis for
the growing culture.

Many areas which now form part of Greater London were formerly
rural and agricultural outskirts but still bear names which indicate this
past: Ealing Common, Lincoln’s Inn Fields, Shepherd’s Bush and
Wormwood Scrubs, for example.

In 1938, the Greater London Area became the first region in Britain
to use a green belt policy in order to combat urban sprawl. Less than
10 % of the land farmed was used for cultivation of organic materials,
and the total contribution that farming made to the economy, excluding
diversification activities, was less than 8 million pounds. However, Lon-
don’s agricultural industry was shown to be much more reliant on activi-
ties pertaining to diversification, with just under a third of farm income
attributed to it, exceeding the national average. The report stated that
whilst farming was not a significant part of London’s economy, it did
have a vital role to play.

The report showed that farming was mainly concentrated in the north
east of London, but only included figures on arable farming (the sur-
rounding UK farming regions of “East” and “South East” are where ce-
real farming is most prevalent). The report commented that livestock
farming had decreased in recent years due to a lack of infrastructure
(poor access to abattoirs and markets) and problems associated with be-
ing located in close proximity to the urban fringe (such as dogs). The
report concluded that the low levels of stock in relation to permanent
pasture suggested equine usage, something often related to diversifica-
tion activities. Horticultural activities were mainly confined to the east
of London, south of the River Thames.

In an effort to boost the efforts of urban farming in the Greater London
area, a conference was called on July 1, 2008 entitled “Growing Food for
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London”. Organized by the London Parks and Green Spaces Forum, and
as part of the London Festival of Architecture, solutions were sought
to encourage so called “fringe farmers” (farmers on the fringe of urban
areas) by assessing their needs in urban areas. The impetus for the confe-
rence was the rising cost of fuel, and the requisite need for food supplies
to be provided closer to urban areas to keep food costs low.

ADAS — Agricultural Development and Advisory Service — Koncyinb-
TaTWBHas CIyx0a M CiIyX0a CelbCKOXO3SMCTBEHHBIX HCCICIOBaHUM
(BenukoOpuTanus)

abattoir — cKOTOOO¥HS

Exercise 2. Say if the statements are true or false. Correct the
false ones.

1. Agriculture in London is rather a large enterprise.

2. London’s agricultural industry was shown to be much more reliant
on activities pertaining to diversification.

3. Nearly a half of the farmland in the London area is a basis for
growing culture.

4. Many areas which now form part of Greater London were formerly
urban outskirts.

5. Livestock farming had increased in recent years in the London area.

6. Horticultural activities were mainly confined to the north of London.

GARDEN OF ENGLAND

Exercise 3. Read and translate the text. Say what information is
new for you.

The visitor who travels from Dover to London in spring will pass
through blossoming orchards of apple, pear and cherry trees, for it is not for
nothing that Kent is called the “Garden of England”. Hard fruits (apples and
pears) grow well in many other parts of Britain as well. In the west farmers
grow cider apples. Soft fruit (such as plums) are grown in many counties;
the area around Perth, in Scotland, is the chief center for raspberries.

Wheat growing is confined mainly to England. Barley and oats are
grown in the same areas together with sugar beet. More than half the
crop is harvested mechanically. Potato is grown mainly in the East
of England and in Lancashire, while Scotland supplies seed potatoes.
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Dairy farming is distributed all over the country but is characteristic
of the West of England.

Britain is an exporter of pedigree cattle, sheep, pigs and horses.

Sheep are found in hilly countries particularly. Britain has been fa-
mous for it for centuries. There is hardly a place in the country which
hasn’t got some connection with the wool trade. Many surnames show
a family’s past connection with the wool trade. Shepherd and Weaver
are the best examples.

Market gardening centers are usually situated near the big towns.
Glasshouses are mainly in southern England.

Exercise 4. Answer the questions.

1. What part of Great Britain is called “Garden of England”?

2. What are many of the apples grown in the West of England used for?
3. In what way are apples used in your region?

4. What are barley and oats used for?

5. What farm animals does Britain export?

6. What do surnames of Shepherd and Weaver show?

ON AN ENGLISH FARM IN OCTOBER

Exercise 5. Read the text using a dictionary. Write out a sentence
from each paragraph containing the main idea.

October is a busy month for any farmer. The two most important
jobs are to finish the harvesting of last year’s crops, and to begin
preparations for next year’s harvest. All the grain is now in the stacks
or ricks and thatched safe from the rain. The potatoes were dug in Sep-
tember and are now stored in pits, and the apples have been sold,
stored or made into cider. But there are two crops_ still to harvest —
mangolds and sugar beet.

The mangolds have been grown for cow-feed, so that the cows may
have some moist fresh food when winter brings the good grass in the
pastures to an end. They are now huge yellow roots with dark green
leaves, and they must be pulled up and stored before he winter frosts can
spoil them. Sugar beet are of the same plant family as mangolds, but are
much more difficult to harvest.

In addition to ploughing, sowing, and root-harvesting, the routine
work with the farm’s livestock has been going on. The cows have been
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milked and fed twice daily, on weekdays and Sundays. October is
a fairly easy month for the dairyman. His cows obtain most of their food
from the pastures.

What else is there to do in October on a farm? Very many things. For
one, the poultry must be looked after. Now on most farms they are kept
in houses without floors, which are moved on to fresh ground each day.
On a day when it’s too wet to sow, or even to pull roots, the men can do
a little hedge-trimming.

Exercise 6. English people say:

1. Soil is the best provider.

2. Make hay while the sun shines.

3. Everything is good in its season.

4. Don’t count chickens until eggs are hatched.
5. A snowy year, a rich year.

What do they say in your country?
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